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Note: (a) All questions are compulsory. (b) The candidate is allowed to make Suitable
numeric assumptions wherever required for solving problems

QL.

Q2

Q3.
Q4.

Explain the differences between CPM and PERT networks. C0-1,2,3 [2 Marks]

Discuss various rules for providing dummies in a network. What are ed "dant
dummies? CO-1;: ﬂ;@;ﬁ]

Differentiate between Resource Smoothing and Resource Leveling. €

Figure below shows the network for a construction pro;ect Wwith thethree time
estimates of each activity marked. Determine: CO-2 [5 Marks]
(a) Critical path and its standard deviation.
(b) Probability of completion of project in 40 days.
(¢) Time duration that will provide 95% probat ,,;,}ylty:of 1ts completlon in time.

(1)

' _2-7:4-6 -,

i 1.0 1.5 2.0 2.5 3.0
Probablhty (%) 84.13 93.32 9772 | 99.38 99.87
Qs. 'Fg_r the given activities mentioned in the table below.
o | Activity | Normal Normal Crash Crash
- duration cost duration cost

(weeks) {Rs.) (weeks )} (Rs.)

1—2 8 7000 3 14500

1—3 8 4000 5 8500

23 4 6000 1 9000

2—4 5 8000 3 15000

3—4 5 5000 3 11000
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Qo6.

Q7.

Q8.

Q.

b sgf?be by means of a simple diagram and name the main parts. Also indicate its

The indirect cost of the project is Rs. 3000 per week. Determine the optimum duration
of the project and the corresponding minimum cost. Draw the time scaled version of the
network at each stage of crashing, CO0-3,4 [5 Marks]

A network for a project is shown in the figure below. The network is to be updated after
10 days of its execution. The following conditions exist at the end of 10 days :

(a) Activity 1-2, 1-3 and 1-4 have been completed as originally scheduled.

(b) Activity 4-5 is in progress and will require 6 more days for its completion.
(c) Activity 4-6 is in progress and will require 6 more days for its completion.
(d) Activity 3-6 is in progress and will be completed in one day.

(e) Other activities have not been commenced and their original predlctgj 3
will hold good, except for activity 5-7 which will require only three d
days originally planned ¢

CQVﬁZ 4 [3 Marks]

Explain any one - among tilting type of mixers and pan type of mixers used in concrete
mixing with the hclp of neat sketch. CO-5 [3 marks]

What'is groy 1ng‘? Define categories of grout. Explain in detail the grouting method
d for stabilizing the soil in tunneling. CO-5,6 [4 marks]

+, ‘=guitability in field operations. (Answer any one) CO-5,6 [5 marks]

Ql0.

- a) Bulldozer
b) Derrick Crane
¢) Power Shovel

What are the different compacting equipments used at construction sites? Explain any
one in detail, CO-5,6 [3 marks]
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